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Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
Which of the following would be considered a new product?

	a.
	A new product line

	b.
	A new-to-the-world product

	c.
	An addition to an existing product line

	d.
	An improvement or revision of an existing product

	e.
	All of these choices


____
2.
When Glade began marketing a clean linen–scented air spray, this represented which new product category?

	a.
	Repositioning strategy

	b.
	New product line

	c.
	Addition to existing product line

	d.
	Discontinuous innovation

	e.
	Revision of existing products


____
3.
_____ occurs when an existing product is targeted toward new market segments. It is another type of new-product development because the product is new to that segment.

	a.
	Brainstorming

	b.
	Diffusing

	c.
	Repositioning

	d.
	Screening

	e.
	Reciprocity


____
4.
The process of converting applications for new technologies into marketable products is called:

	a.
	basic research

	b.
	product modification

	c.
	marketing development

	d.
	product development

	e.
	correlation analysis


____
5.
When selecting a test market city, a researcher should look for a city:

	a.
	where the demographics and purchasing habits mirror the overall market for the product

	b.
	that has media spillover from other cities to increase media alternatives

	c.
	that is as large as possible

	d.
	that has limited distribution

	e.
	where there is no competition


____
6.
During the _____ stage of the new-product development process, production starts, inventories are built up, the product is shipped to distribution points, the sales force is trained, and advertising and promotion begin.

	a.
	commercialization

	b.
	product testing

	c.
	market analysis

	d.
	product prototyping

	e.
	simulated marketing


____
7.
The process by which the adoption of an innovation spreads is referred to as:

	a.
	diffusion

	b.
	circulation

	c.
	transmission

	d.
	dissemination

	e.
	dispersion


____
8.
_____ are eager to try new ideas and products. They typically have higher incomes, are better educated, and are more cosmopolitan than other categories of adopters.

	a.
	Early adopters

	b.
	Innovators

	c.
	Early majority

	d.
	Late majority

	e.
	Laggards


____
9.
_____ embrace products relatively early in the product life cycle, are likely to be community oriented, and often are opinion leaders themselves.

	a.
	Early adopters

	b.
	Innovators

	c.
	Early majority

	d.
	Late majority

	e.
	Laggards


____
10.
In the adopter categories, the final 16 percent to adopt are similar to innovators in that they do not rely on the norms of the group but are independent because they are bound to tradition. They tend to have the lowest socioeconomic status, are suspicious of new products, and are alienated from a rapidly advancing society. They are called:

	a.
	generics

	b.
	late majority

	c.
	decliners

	d.
	laggards

	e.
	late diffusers


____
11.
Which product factor influencing the rate of adoption represents the degree of difficulty involved in understanding and using a new product?

	a.
	Complexity

	b.
	Compatibility

	c.
	Relative advantage

	d.
	Observability

	e.
	Trialability


____
12.
A biological metaphor that traces the stages of a product’s acceptance, from its introduction (birth) to its decline (death) is called the:

	a.
	product diffusion process

	b.
	product phase

	c.
	product adoption stages

	d.
	product evolution cycle

	e.
	product life cycle


____
13.
The stages of the product life cycle, in order, are:

	a.
	introduction, maturity, decline

	b.
	introduction, growth, maturity, decline

	c.
	growth, maturity, plateau, decline

	d.
	innovation, early adoption, late adoption, laggard

	e.
	category acceptance, category growth, brand acceptance, brand growth


____
14.
At the beginning of the maturity stage of the product life cycle, sales typically:

	a.
	become flat and do not change

	b.
	increase at an increasing rate

	c.
	decrease at a decreasing rate

	d.
	decrease at an increasing rate

	e.
	increase at a decreasing rate


____
15.
Normally, the longest stage of the product life cycle is the _____ stage.

	a.
	maturity

	b.
	growth

	c.
	introductory

	d.
	decline

	e.
	development


____
16.
PayPal allows you to pay for items that you buy at online sites such as eBay without exposing your credit card or bank account number. To use PayPal, you simply select “PayPal” when checking out at the online store and then allow PayPal to pay directly from a credit card or from your PayPal balance or linked bank account. PayPal would be classified as a:

	a.
	good

	b.
	tangible resource

	c.
	tangible product

	d.
	service

	e.
	nonprofit organization


____
17.
Which unique characteristic of services is the variability of the inputs and outputs of services, which causes services to tend to be less standardized and less uniform than goods?

	a.
	Intangibility

	b.
	Inseparability

	c.
	Heterogeneity

	d.
	Perishability

	e.
	Flexibility


____
18.
Due to service _____, services cannot be stored, warehoused, or inventoried.

	a.
	tangibility

	b.
	variability

	c.
	intangibility

	d.
	perishability

	e.
	heterogeneity


____
19.
Starbucks management has been trying to refocus on the things that made the company so successful. For example, Starbucks stores across the United States recently shut down for a short period of time for retraining, and the company has worked to make sure you can smell the fresh ground coffee aroma when you enter the store. However, when questioned, consumers tend to focus on the need for pricing incentives such as a frequent purchasing program. According to the _____, there may be a gap between what customers want and what Starbucks management thinks customers want.

	a.
	gap model of service quality

	b.
	service pyramid

	c.
	four dimensions of service quality

	d.
	service paradigm

	e.
	service delineation matrix


____
20.
A group of services that support or enhance the core service is called:

	a.
	secondary services

	b.
	peripheral services

	c.
	additional services

	d.
	supplementary services

	e.
	complementary services


____
21.
The ability of customers to go online to design their own dining room table or sofa at Norwalkfurniture.com is an example of:

	a.
	a cooperative service

	b.
	mass customization

	c.
	aggregated standardization

	d.
	a market development strategy

	e.
	mental stimulus processing


____
22.
Allstate Insurance says “You’re in good hands with Allstate,” and Prudential Life Insurance shows a rock in its commercials because it wants to convey stability. These companies are using what type of promotion strategy?

	a.
	Stressing tangible cues

	b.
	Stressing homogeneity

	c.
	Using personal information sources

	d.
	Providing packaging cues

	e.
	Communicating service integration signals


____
23.
Habitat for Humanity renovates vacant houses and sells them at no-interest mortgage rates to low-income home buyers. The organization relies on volunteers to provide the labor and funding for its renovations. Habitat for Humanity is best described as a(n):

	a.
	image-oriented organization

	b.
	for-profit organization

	c.
	nonprofit organization

	d.
	service branch

	e.
	source-based organization


____
24.
A _____ is a business structure of interdependent organizations that reaches from the point of product origin to the consumer.

	a.
	facilitating agency or place member

	b.
	marketing mix intermediary

	c.
	selective distribution channel

	d.
	marketing channel or channel of distribution

	e.
	transportation channel or channel of movement


____
25.
A discrepancy of _____ is the difference between the amount of product produced and the amount an end user wants to buy.

	a.
	space

	b.
	quantity

	c.
	assortment

	d.
	accumulation

	e.
	possession


____
26.
Marketing channels make distribution simpler by reducing the number of transactions required to get products from manufacturers to consumers. This is called:

	a.
	forward integration

	b.
	contact efficiency

	c.
	elimination of temporal discrepancies

	d.
	sorting

	e.
	reciprocity


____
27.
One configuration of a marketing channel entails producers selling to consumers with no intermediaries involved. This is called a:

	a.
	limited distribution system

	b.
	conventional channel

	c.
	vertical marketing system

	d.
	reciprocal channel

	e.
	direct channel


____
28.
Customers can purchase Hewlett-Packard computers from retail stores like Best Buy and Office Depot, online directly from HP, and through various catalogs. HP is using a(n) _____ distribution arrangement.

	a.
	intensive

	b.
	multiple

	c.
	exclusive

	d.
	cumulative

	e.
	aggregated


____
29.
_____ distribution is achieved by screening dealers to eliminate all but a few in any single geographic area. Shopping goods and some specialty products that consumers are willing to search for are sold this way.

	a.
	Intensive

	b.
	Selective

	c.
	Exclusive

	d.
	Dual

	e.
	Controlled


____
30.
Rolex is an expensive brand of watches. The company has a policy of only having one or two dealers within a given large geographic area. Buyers of Rolex watches will travel extensively to acquire just the right watch. This is an illustration of which level of distribution intensity?

	a.
	Exclusive

	b.
	Intensive

	c.
	Selective

	d.
	Reciprocal

	e.
	Premium


____
31.
Wal-Mart is the largest retailer in the world, and many consumer packaged-goods manufacturers like Kraft have offices in Bentonville, Arkansas, where Wal-Mart is headquartered. Wal-Mart has the ability to influence manufacturers to lower their prices so that it can deliver on its low-price guarantee to consumers. Wal-Mart possesses:

	a.
	channel influence

	b.
	channel supremacy

	c.
	channel power

	d.
	channel exclusivity

	e.
	channel clout


____
32.
One thing that sets service distribution apart from traditional manufacturing distribution is that in a service environment:

	a.
	production and consumption are simultaneous

	b.
	production setbacks can be remedied by using safety stock

	c.
	faster modes of transportation can offset service production problems

	d.
	service distribution benefits are more tangible

	e.
	service distribution has a narrower focus


____
33.
The connected chain of all of the business entities, both internal and external to the company, that perform or support the logistics function is known as the:

	a.
	channel of distribution

	b.
	intermediary link

	c.
	physical distribution integration

	d.
	reseller network

	e.
	supply chain


____
34.
Which business process is based on the activities involved in customer data collection, forecasting of future demand, synchronization of supply and demand by comparing production capacity to forecasts, and the development of activities to “smooth out” demand?

	a.
	Manufacturing flow management

	b.
	Customer service management

	c.
	Product development and commercialization

	d.
	Order fulfillment

	e.
	Demand management


____
35.
Which of the following is the inventory control system that manages the replenishment of raw materials, supplies, and components from the supplier to the manufacturer?

	a.
	Electronic data interchange (EDI)

	b.
	Distribution resource planning (DRP)

	c.
	Third-party logistics firm (3PL)

	d.
	Materials requirement planning (MRP)

	e.
	Activity-based costing (ABC)


____
36.
The goal of inventory control is to:

	a.
	minimize inventory levels while maintaining an adequate supply of goods to meet customer demands

	b.
	maximize inventory levels to prevent any possibility of stockouts

	c.
	determine order timing and order quantity

	d.
	estimate proper usage rates

	e.
	integrate JIT to reduce risks of obsolescence, theft, and damage


____
37.
The mode of transportation that provides the most accessibility is:

	a.
	pipelines

	b.
	air freight

	c.
	truck freight

	d.
	water transport

	e.
	railroad


____
38.
A manufacturer of automobile component parts that has turned over all transportation functions to an independent third party in its supply chain has engaged in:

	a.
	creating a dependent materials-handling system

	b.
	outsourcing

	c.
	removing entry barriers

	d.
	task deployment

	e.
	channel rotation


____
39.
Which U.S. retailer is the number one sales volume retailer in the world?

	a.
	Sears

	b.
	JCPenney

	c.
	Target

	d.
	Kroger

	e.
	Walmart


____
40.
Tiffany owns a gift shop that carries clothing and memorabilia of local high school teams as well as home decor objects. She is the sole owner of the store, so in terms of ownership, her store would be classified as a(n):

	a.
	independent retailer

	b.
	freestanding store

	c.
	franchise

	d.
	chain store

	e.
	common retailer


____
41.
_____ shows how much the retailer makes as a percentage of sales after the cost of goods sold is subtracted.

	a.
	Net income

	b.
	Retained earnings

	c.
	Profitability

	d.
	Net equity

	e.
	Gross margin


____
42.
_____ carry a limited line of high-turnover, high-priced goods and resemble miniature supermarkets. These self-service stores are typically located near residential areas and are open long hours, seven days a week.

	a.
	Specialty stores

	b.
	Wholesale stores

	c.
	Convenience stores

	d.
	Factory outlets

	e.
	General stores


____
43.
_____ are retailers that compete on the basis of low prices, high turnover, and high volume.

	a.
	Convenience outlets

	b.
	Discount stores

	c.
	General stores

	d.
	Department stores

	e.
	Specialty stores


____
44.
A publisher of books on holiday decorating, cooking, and crafts has to find a way to dispose of its overruns and unsold end-of-season output. As a marketing consultant, you suggest the firm sell the merchandise to:

	a.
	mass merchandisers

	b.
	convenience stores

	c.
	department stores

	d.
	supermarkets

	e.
	off-price discount retailers


____
45.
Which of the following statements about restaurants is true?

	a.
	Restaurants are clearly a retailing establishment.

	b.
	There is a strong demand for many more restaurants.

	c.
	The demographic issue of time-poor consumers has led to a growing demand for restaurants.

	d.
	Because barriers to entry are low, the restaurant business appeals to many people.

	e.
	Restaurants are clearly a service industry.


____
46.
_____ is a low-profile yet important form of retailing in which consumers get products out of automated machines, and it accounts for billions of dollars worth of goods each year in the United States.

	a.
	Automatic vending

	b.
	Party-plan selling

	c.
	Direct marketing

	d.
	A pyramid scheme

	e.
	Professional selling


____
47.
Which form of franchising involves a dealer agreeing to sell certain products provided by a manufacturer or a wholesaler?

	a.
	Primary franchising

	b.
	Product and trade name franchising

	c.
	Business format franchising

	d.
	Limited franchising

	e.
	Focused franchising


____
48.
Which form of franchising is an ongoing business relationship between a franchisor and a franchisee where the franchisor “sells” a franchisee the rights to use the franchisor’s approach to doing business?

	a.
	Primary franchising

	b.
	Product and trade name franchising

	c.
	Business format franchising

	d.
	Process franchising

	e.
	Service franchising


____
49.
Domino’s pizza, Hyatt Corporation, and Wendy’s are all examples of _____ because the franchisee buys the right to use the franchisor’s approach to doing business.

	a.
	product and trade name franchisors

	b.
	redistributor franchisors

	c.
	business format franchisors

	d.
	licensed franchisors

	e.
	relationship franchisors


____
50.
Retailers control the six Ps of the retailing mix. The six Ps include the marketing mix plus:

	a.
	presentation and personnel

	b.
	production and people

	c.
	potential and perception

	d.
	personality and persuasion

	e.
	positioning and purchasing


____
51.
Persuading customers to buy a higher-priced item than they originally intended to buy is referred to as:

	a.
	suggestion selling

	b.
	trading up

	c.
	conversion selling

	d.
	relationship marketing

	e.
	interactive selling


____
52.
_____ is communication by marketers that informs, persuades, and reminds potential buyers of a product in order to influence an opinion or elicit a response.

	a.
	Distributive communication

	b.
	Perceptual communication

	c.
	Statistically provable advertising

	d.
	Promotion

	e.
	Publicity


____
53.
The main function of a promotional strategy is to:

	a.
	convince the target customers that a firm’s products offer competitive advantages over those of its competition

	b.
	find a niche in the marketplace for the firm and its products

	c.
	provide the firm with research information about the success of its marketing effort

	d.
	create efficient distribution channels

	e.
	guarantee control over the length of the stages of the product life cycle


____
54.
The ads for Don Francisco’s ground coffee simply state, “The highest quality coffee doesn’t have to be expensive.” This is an example of how a product communicates its _____ with promotion.

	a.
	marketing mix

	b.
	comparative differentiation

	c.
	competitive advantage

	d.
	researchable objective

	e.
	promotional theme


____
55.
The promotional mix consists of:

	a.
	advertising, publicity, direct marketing, and personal selling

	b.
	public relations, direct marketing, personal selling, and publicity

	c.
	product, promotion, price, and place

	d.
	advertising, personal selling, sales promotion, and public relations

	e.
	advertising, telemarketing, public relations, and sales promotions


____
56.
Public information about a company, good, or service appearing in the mass media as a news item is called:

	a.
	personal selling

	b.
	advertising

	c.
	mass communications

	d.
	publicity

	e.
	sales promotion


____
57.
A $1-off coupon for Carnation Instant Breakfast powder is a form of:

	a.
	public relations

	b.
	sales promotion

	c.
	personal selling

	d.
	advertising

	e.
	publicity


____
58.
Java Jacket is a company that designs and prints ads on the paper jackets that go around hot coffee cups sold in coffee shops. To find clients to advertise on the coffee cup jackets, the company sent a representative to companies like Warner Brothers, eBay.com, and the Wall Street Journal to tell them how their ads on coffee cup jackets would give them inexpensive exposure to a large number of potential customers. Java Jacket’s activities can best be described as:

	a.
	mass communication

	b.
	implicit communication

	c.
	personal selling

	d.
	public relations

	e.
	telemarketing


____
59.
Informative promotion is generally used:

	a.
	when memory stimulus is needed

	b.
	when the brand name is well-known to consumers

	c.
	during the early stages of the product life cycle

	d.
	during an attempt to gain the immediate action of a consumer

	e.
	when advertising a simple, nontechnical, mature product


____
60.
The goal of persuasive promotion is to:

	a.
	stimulate a purchase or an action

	b.
	increase brand awareness

	c.
	describe available services

	d.
	remind the consumers of where to buy the product

	e.
	maintain top-of-mind consumer awareness


____
61.
When a product is in the growth stage of its product life cycle:

	a.
	all elements of the promotional mix are equally important

	b.
	heavy advertising is used to build brand loyalty

	c.
	persuasive and reminder advertising is decreased

	d.
	personal selling is ineffective

	e.
	personal selling and sales promotions are the major elements of the promotional mix used


____
62.
The use of aggressive personal selling and trade advertising by a manufacturer to convince a wholesaler or retailer to carry and sell particular merchandise is known as a _____ strategy.

	a.
	strong-arm

	b.
	kinetic

	c.
	pull

	d.
	foot-in-the-door

	e.
	push


____
63.
The American Plastics Council wants to stimulate more consumer demand for products that are packaged in plastic. The ads will be run in consumer magazines and will hopefully cause customers to ask retailers to carry more products packaged in plastic. The American Plastics Council is planning to use a(n) _____ strategy.

	a.
	kinetic

	b.
	pull

	c.
	inertia

	d.
	advertorial

	e.
	push


____
64.
When Lee Apparel introduced Lee Dungarees, it carefully coordinated posters, radio and television commercials, and a Web-based interactive game that drove customers to off-line stores and back to the Web site. All of these elements produced a consistent, unified, customer-focused message. Lee Apparel used:

	a.
	coordinational promotion

	b.
	promotional mixing

	c.
	integrated marketing communications

	d.
	creative selling

	e.
	processed marketing


____
65.
Why do companies with new brands that have a small market share tend to spend proportionately more for advertising and sales promotions compared to those with a large market share for existing products?

	a.
	As a result of experiential marketing research

	b.
	To create the appropriate level of institutional advertising

	c.
	To determine which executional appeal is the most effective

	d.
	To achieve a certain minimum level of exposure to measurably affect purchase habits

	e.
	To prevent product cannibalization


____
66.
Procter & Gamble has run ads that promote its Children’s Safe Drinking Water program in which it shows its employees teaching people around the world how to purify their water. The program was instituted because 5,000 children die every day from diseases caused by unsafe water. These ads are examples of _____ advertising.

	a.
	product

	b.
	institutional

	c.
	pioneering

	d.
	environmental

	e.
	comparative


____
67.
Americans for Balanced Energy Sources has spent $1.3 million on ads to say that coal-fired electric generating plants can be clean despite growing opposition to coal plants, as many of the plants contribute directly to greenhouse gases leading to an accelerated increase in global warming. These ads are examples of _____ advertising.

	a.
	advocacy

	b.
	selective

	c.
	product

	d.
	differential

	e.
	image


____
68.
Verizon runs ads that have a map floating over cell phone users’ heads showing where they have 3G network capabilities, and the blue coloring on the map shows that Verizon’s coverage is almost everywhere in the United States. The ads also show an unfortunate AT&T customer with a red-shaded map showing much less 3G network coverage throughout the United States. Verizon is using _____ advertising.

	a.
	competitive

	b.
	institutional

	c.
	comparative

	d.
	image

	e.
	pioneering


____
69.
A(n) _____ is a specific communication task that a campaign should accomplish for a specified target audience during a specified period.

	a.
	advertising objective

	b.
	marketing mix

	c.
	media schedule

	d.
	advertising life span

	e.
	promotional mix


____
70.
The ad campaign for South Beach Living Cinnamon Raisin Cereal Bars highlights that the product is a good source of fiber and packed with ten grams of protein. This advertising highlights:

	a.
	product attributes

	b.
	the creation of brand loyalty

	c.
	how negative consumers’ attitudes are modified

	d.
	product benefits

	e.
	loyalty rewards


____
71.
Which of the following is what consumers will receive or achieve by using a product?

	a.
	Attribute

	b.
	Benefit

	c.
	Compensation

	d.
	Market share

	e.
	Functionality


____
72.
A print ad for Kraft Capri Sun drink packs says “take a sip of antioxidant protection.” What kind of an advertising appeal is this ad using?

	a.
	Convenience

	b.
	Fun and pleasure

	c.
	Health

	d.
	Profit

	e.
	Admiration


____
73.
The Highway Transportation Agency once used ads showing real automobile accidents in which real people were killed in hopes of getting more drivers to use their seat belts. What kind of advertising appeal were these ads using?

	a.
	Fear

	b.
	Consequences

	c.
	Health

	d.
	Profit

	e.
	Consciousness


____
74.
The ads for Tilex Mold & Mildew cleaner show the product being applied to a mildewed bathroom shower and the mildew disappearing. These ads use a _____ executional style.

	a.
	demonstration

	b.
	scientific

	c.
	fantasy

	d.
	mood or image

	e.
	lifestyle


____
75.
Ads for the Nutrisystem weight-loss system feature celebrities, like football great Dan Marino, showing how they lost weight on the program. This is an example of a _____ executional style for advertising.

	a.
	lifestyle

	b.
	spokesperson/testimonial

	c.
	fantasy

	d.
	scientific

	e.
	mood or image


____
76.
In which medium do advertisers spend the most?

	a.
	Direct mail

	b.
	Newspaper

	c.
	Television

	d.
	Radio

	e.
	The Internet


____
77.
One of the reasons why a retailer might avoid the use of newspaper advertising is:

	a.
	absence of geographic selectivity

	b.
	short lead time

	c.
	year-round readership

	d.
	little demographic selectivity

	e.
	high individual market coverage


____
78.
One of the advantages of television advertising is:

	a.
	short life of message

	b.
	long lead time

	c.
	commercial clutter

	d.
	high costs

	e.
	ability to reach a wide, diverse audience


____
79.
Advertising in the form of a 30-minute advertisement that resembles a television talk show is called a(n):

	a.
	infomercial

	b.
	extended sales pitch

	c.
	mega-mercial

	d.
	ad expander

	e.
	prolonged advertisement


____
80.
When an advertiser decides how much space and/or time will be placed in each advertising medium the company wants to use, the advertiser is determining its:

	a.
	marketing mix

	b.
	media mix

	c.
	promotional plan

	d.
	advertising campaign

	e.
	reach objectives


____
81.
Billboard advertisements often have to compete for a driver’s attention with traffic, passengers, radio, or other billboards. Billboard advertising would be described as:

	a.
	lacking any geographic selectivity

	b.
	the most flexible advertising medium

	c.
	having a high noise level

	d.
	having a low noise level

	e.
	being a great channel for informative ads


____
82.
Advertisers are often concerned with the noise level in a medium. The medium that is assumed to have the lowest noise level is:

	a.
	radio

	b.
	television

	c.
	direct mail

	d.
	newspaper

	e.
	magazines


____
83.
Which public relations tool involves a company spending money to support an issue, cause, or event that is consistent with corporate objectives?

	a.
	Advocacy

	b.
	Lobbying

	c.
	Product placement

	d.
	Sponsorship

	e.
	Underwriting


____
84.
Dell’s back-to-school program allows students who buy a new laptop computer for college to get a free printer. The printer giveaway is a(n):

	a.
	push strategy

	b.
	advocacy advertising

	c.
	comparative advertising

	d.
	cause marketing

	e.
	sales promotion


____
85.
Sales promotion:

	a.
	is a publicity tool

	b.
	is only directed to the ultimate consumer market

	c.
	is more difficult to measure than advertising

	d.
	offers a short-term incentive to buy

	e.
	expenditures have been decreasing in recent years


____
86.
When Rick purchased a Xerox color printer for his law office, he was able to mail in a proof-of-purchase and his cash register receipt to receive a check from Xerox for $200. Rick received a:

	a.
	premium

	b.
	trade allowance

	c.
	purchase allowance

	d.
	rebate

	e.
	functional discount


____
87.
Why do some marketers offer rebates instead of price reductions to induce short-term sales?

	a.
	Rebates are especially good at enticing purchases, but most consumers never bother to redeem them.

	b.
	A price reduction of this type would likely be an example of price discrimination.

	c.
	Rebates offer a more immediate reward than price reductions.

	d.
	Rebates have a much higher redemption rate than coupons.

	e.
	Rebates result in brand-loyal consumers.


____
88.
Which type of consumer sales promotion rewards loyal consumers for making multiple purchases of a particular good or service?

	a.
	A frequent buyer program

	b.
	An 80/20 program

	c.
	A net worth program

	d.
	A premium program

	e.
	A continuity program


____
89.
Unlike other sales promotion activities, the objective of a loyalty marketing program is to:

	a.
	encourage brand switching

	b.
	appeal to bargain hunters who consistently buy the lowest-priced brand

	c.
	take away customers from the competition

	d.
	build long-term, mutually beneficial relationships between a company and its key customers

	e.
	modify customers’ attitudes toward a product


____
90.
Seagram’s Coolers has asked bartenders in New York City to submit cocktail recipes to its Web site. From these entries, the winning recipe will be selected. The winner of this _____ gets to take a friend on a five-night trip to Tahiti.

	a.
	contest

	b.
	push money deal

	c.
	sampling

	d.
	relationship game

	e.
	sweepstakes


____
91.
Which sales promotion tool allows the consumer the opportunity to try a product or service for free?

	a.
	Coupons

	b.
	Rebates

	c.
	Sampling

	d.
	Sweepstakes

	e.
	Allowances


____
92.
Trade sales promotions support a _____ strategy.

	a.
	push

	b.
	hierarchical

	c.
	disintermediation

	d.
	discontinuous innovation

	e.
	pull


____
93.
General Mills is offering resellers a 10 percent discount on all cases of its granola bars purchased during the month of June. General Mills is offering a:

	a.
	trade allowance

	b.
	life cycle extension promotion

	c.
	P-O-P discount

	d.
	push money deal

	e.
	product development deal


____
94.
When compared to other forms of promotion, personal selling:

	a.
	is more important as the number of potential customers increases

	b.
	is more effective in selling frequently purchased products

	c.
	can use a message customized to the immediate needs of the customers

	d.
	is best for selling simple, low-involvement products

	e.
	is less expensive


____
95.
Price is best described as:

	a.
	that which is given up in exchange to acquire a good or service

	b.
	money exchanged for a good or service

	c.
	the psychological results of purchasing

	d.
	the cost in dollars for a good or service as set by the producer

	e.
	the value of a barter good in an exchange


____
96.
Revenue:

	a.
	equals quantity sold times profit margin

	b.
	equals price minus costs

	c.
	equals return on investment

	d.
	is synonymous with profit

	e.
	equals price of goods times quantity sold


____
97.
Money that is left over after paying for company activities is called:

	a.
	return on investment

	b.
	a contribution margin

	c.
	profit

	d.
	net worth

	e.
	a current asset


____
98.
When Apple, Inc. originally introduced its iPhone, it was priced at what many believed to be about as high as the market would allow. Within weeks, Apple lowered the price of the iPhone. It appears that Apple entered the market with a _____ approach to pricing the iPhone.

	a.
	market share pricing

	b.
	profit maximization

	c.
	demand-oriented

	d.
	sales maximization

	e.
	status quo pricing


____
99.
Thompson Pool and Patio is known for quality pool installations, excellent customer service, and reasonable prices. If you want to have a Thompson pool, you will have to wait about six months due to demand for their product. While Thompson could probably price its product higher, given the demand, they don’t. Instead, the company sets its price so that it will earn a reasonable level of profits. Thompson seems to base its pricing policy on:

	a.
	profit maximization

	b.
	earning satisfactory profits

	c.
	creating retained earnings

	d.
	making the most money as possible

	e.
	decreasing consumer demand


____
100.
Dixie Furniture Company has recently moved to a new, larger location. At this new location, it has been unable to attract sufficient customers. Its owner did not have the cash to pay the current loan installment due on the building and inventory, so he decided to reduce all merchandise prices by at least 50 percent for a weekend sale to earn enough to make his loan payment. His pricing objective can be classified as:

	a.
	market share maximization

	b.
	satisfactory profits

	c.
	asset maximization

	d.
	sales maximization

	e.
	target ROI


____
101.
Although many factors can influence price, the primary determinants are:

	a.
	costs of manufacturing and distribution

	b.
	the demand for the good and the cost to the seller

	c.
	demand by the consumer and perceived quality

	d.
	distribution and promotion strategies

	e.
	stage of the product life cycle and costs to the consumer


____
102.
The manager of a souvenir shop in Florida graphed the demand per week for fresh orange juice. The graph indicates a demand schedule that slopes downward and to the right. This graph indicates that the quantity of juice demanded increases as:

	a.
	cost increases

	b.
	supply decreases

	c.
	price increases

	d.
	price decreases

	e.
	supply increases


____
103.
Consumers’ responsiveness or sensitivity to changes in price is known as:

	a.
	break-even

	b.
	equilibrium

	c.
	unitary revenue

	d.
	asymmetrical demand

	e.
	elasticity of demand


____
104.
When Nesco brand food hydrators sold for $59.99, Nesco sold 90 dehydrators. When the company dropped the price of its dehydrators to $44.95, it sold 145 dehydrators. Demand for the food dehydrators appears to be:

	a.
	elastic

	b.
	inelastic

	c.
	unitary

	d.
	symmetrical

	e.
	asymmetrical


____
105.
If a product has high pricing power, this would indicate a situation of:

	a.
	unitary demand

	b.
	inelastic demand

	c.
	elastic demand

	d.
	constant demand

	e.
	revenue maximization


____
106.
The two types of costs a marketer needs to consider when setting prices are:

	a.
	primary and secondary

	b.
	variable and fixed

	c.
	marginal and absolute

	d.
	short term and long term

	e.
	elastic and inelastic


____
107.
A cost that changes with the level of output is called a(n) _____ cost.

	a.
	liquidity

	b.
	variable

	c.
	fixed

	d.
	asset

	e.
	elastic


____
108.
_____ costs do not change as output is increased or decreased.

	a.
	Asset

	b.
	Variable

	c.
	Fixed

	d.
	Symmetrical

	e.
	Status quo


____
109.
Central Bark is a dog resort where pets are pampered. Which of the following is the BEST example of one of its fixed costs?

	a.
	Payment on the building used by Central Bark

	b.
	Dog biscuits

	c.
	Dog collars and leashes

	d.
	Bubble bath

	e.
	Advertisements in local magazines


____
110.
The most popular method used by wholesalers and retailers in establishing a sales price is _____ pricing.

	a.
	markup

	b.
	status quo

	c.
	formula

	d.
	marginal revenue

	e.
	break-even


____
111.
_____ determine what sales volume must be reached before the company’s total revenue equals total costs and no profits are earned.

	a.
	Marginal revenue estimates

	b.
	Price equilibrium analyses

	c.
	Break-even analyses

	d.
	Average total cost (ATC) figures

	e.
	Marginal costs of goods sold


____
112.
Furr Friends sells kits for making personalized grave markers for pets. The company sells each kit for $25. The average variable cost for each kit is $10, and the total annual fixed costs for plant operation are $45,000. What is the break-even point in units?

	a.
	1,800

	b.
	2,500

	c.
	3,000

	d.
	4,500

	e.
	5,000


____
113.
In the mature and highly competitive furniture industry, you would expect furniture manufacturers to engage in:

	a.
	a price war

	b.
	price escalation

	c.
	prestige pricing

	d.
	above-market pricing

	e.
	geographical pricing


____
114.
Kroger supermarkets will place well-known brands on the shelves at high prices while offering their own Kroger brand at lower prices. This practice is an example of:

	a.
	illegal pricing

	b.
	selling against the brand

	c.
	price pressurization

	d.
	brand cutting

	e.
	private label cannibalization


____
115.
Marketing managers who attempt to raise the quality image of their product by selling it at high prices are following a(n) _____ strategy.

	a.
	profit maximization

	b.
	market share

	c.
	maintained markup pricing

	d.
	prestige pricing

	e.
	investment asset


____
116.
When a firm introduces a new product at a relatively low price because it hopes to reach the mass market, it is following a _____ strategy. The low price is designed to capture a large share of a substantial market and produce lower production costs.

	a.
	penetration pricing

	b.
	price-insensitive demand

	c.
	price skimming

	d.
	price elasticity

	e.
	cost bundling


____
117.
A penetration strategy tends to be effective in a price-sensitive market. Thus, one of the purposes of penetration pricing is to:

	a.
	recoup product development costs quickly

	b.
	discourage competitors from entering the market

	c.
	produce a large margin of profit per unit

	d.
	develop exclusive distribution

	e.
	attract the price-insensitive buyer who demands the latest in technology


____
118.
States developed unfair trade practice acts to

	a.
	enforce the Sherman Act that makes bait pricing illegal

	b.
	prevent oligopoly leaders from getting together and fixing prices at the highest the market will bear

	c.
	establish penalties for companies that break the Clayton Act by engaging in predatory pricing

	d.
	make sure that all pricing policies are equitable

	e.
	protect small, local firms from giant companies that operate efficiently on razor-thin profit margins


____
119.
In 2008, United Airlines and American Airlines disclosed settlements in a class-action lawsuit over allegations of airfreight price fixing. This means the companies:

	a.
	tried to charge fees for airfreight that were below costs

	b.
	charged customers different amounts for the same shipments

	c.
	agreed on the price they would charge customers for airfreight

	d.
	used uniform geographic pricing

	e.
	created an artificial demand for shipping


____
120.
The practice of charging a very low price for a product with the intent of driving competitors out of business or out of a market is called:

	a.
	price discrimination

	b.
	predatory pricing

	c.
	price fixing

	d.
	price manipulation

	e.
	anti-competitive pricing


____
121.
Home Depot’s fall lawn mower sale is an example of which of the following pricing tactics?

	a.
	Quantity discount

	b.
	Seasonal discount

	c.
	Temporal discount

	d.
	Promotional allowance

	e.
	Functional discount


____
122.
With value-based pricing:

	a.
	the firm is sales driven

	b.
	the firm is both customer driven and competitor driven

	c.
	increased profitability for wholesalers will increase the number of services they are willing to perform

	d.
	consumers are more concerned about price than quality

	e.
	additional long-term costs to manufacturers will increase


____
123.
Leader pricing is used to:

	a.
	attract customers to a store so they can be persuaded to buy a more expensive product instead

	b.
	bundle products together for sale

	c.
	attract customers to the store so they will buy other products in addition to the leader product

	d.
	price products at odd-numbered amounts to stimulate demand

	e.
	maintain a status quo pricing strategy


____
124.
The $149 Atlanta Braves MVP package includes tickets to a Braves game, the Georgia Aquarium, Stone Mountain Park, the World of Coca-Cola museum, and Six Flags amusement park. Its pricing technique is known as:

	a.
	price lining

	b.
	two-part pricing

	c.
	psychological pricing

	d.
	price bundling

	e.
	bait pricing


____
125.
Two effective pricing tactics, which can be used during a recession, to hold or build market share are:

	a.
	flexible pricing and price shading

	b.
	price shading and price lining

	c.
	unbundling and price shading

	d.
	value-based pricing and bundling

	e.
	price lining and escalator pricing
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